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0000000 $5.1,52$000 $52$40$51$000000000000 $0(IS_1|+|S_2))$0
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00000 $S$00000 $f$00 $S$00000000O0O0O0O0O0ODO0O0OOODOOOO0O $52%0
$fs 000

O $f(i+1)$J0 000000000 $s[l,s000000000DO0O0O0O0OOODOOO $f(ispoooO
HEN

$$s_1s_2\cdots s_{f(i)}s_{f(i)+1}cdots s_{i-f(i)+1}s_{i-f(i)+2}cdots s_is_{i+1}$$

00 $s[Lf()]=s[i-f()+1,i1$00 0 0 0 $s_{i+1}=s_{f()+1}$00 O $f(i+1)=F(i)+1%]

00 $s {i+1Hneqs {f(i)+1}$0000000000000000000 $j$0

000 $s[1,jl=sli-j+1,i1=s[f(i)-j+1,f)1$00 0 $j$ O $s[Lf()1$ 000000 DO0 $j=F(f(i)$]
0000000 $=0$0000000000000000000

000000000000000$$ 00000000 $1$00000000000$1$00000
$/s21$0000000000 $0(s_2))$0

0000000000000000000000000000000000000000000000
00000000 $0(s_1])$0

Ooooooo0 $0(|s_1|+|s_2])%$0

const int MAXN=1e6+5;
namespace KMP

int f[MAXN!;

void find(char *sl,int n,char *s2,int m){//sO0 00100
int pos=0;
fl1]=0;
_rep(i,2,m

pos&&s2|i|!=s2/pos+l]|)pos=f|pos];
s2/i/==s2|pos+ pos++;
flil=pos;

pos=0;
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_rep(i,1,n
pos&&sl|i] '=s2pos+ pos=f[pos]|;
sl|/i/==s2pos+ pos++;

pos==m
printf("%d\n",i-pos+1);
pos=f [ pos]|;

char buf [MAXN],str MAXN];
int main

scanf("%s%s",buf+l,str+1);

int n=strlen(buf+1),m=strlen(str+1);
KMP: :find(buf,n,str,m);
_rep(i,1,m)space(KMP::f[i]);
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000 $abcabcabc$[jO0 0O $f(n)=6$J00 $f(6)$ 0000 0O0O0OOO0O $abc$j0 OO OO OO
$abc$ 0000 O0OOODOO

000000 $n-fin)\mid n$[JO $s[1,n]l$ 00 $s[1,n-f(N)$ 00O O0OCOOOODO

000 $abcabcasi0 O $f(7)=4$00 0 $f(7)$ 00000000000 $abc$O0OO0OODODOOO
0 $bc$ 000000 $abcs00DOOOO

Oo000gg $n-fin\nmid n$J0 0O $s[l,nl$ 0000000 $n-f(n)-(n\bmod {(n-f(n)})$ 00O 0O
$s[1,n-f(N)]$ 0000000000

good

0000 $s$000 $s$ 000000 $s$000D0DDODODO
O0O0O00oooog $sfhriihot)$ 0000000000 0ODO0OO0ODOOOO $s[1rjs00DOOOO
000 $s[Lil$ 000000000000 $f(i),f(f(i)),f(f(f(i))\cdots$ DD O DO T OO

000 $n$0$$0 0000000000 0O0OODOO0OO0ODOOOO0OO

int cnt[MAXN];
void cal(int *s,int n
get f(s,n);
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_rep(i,l,n)cnt[fli] [++;
int i=n;i;i--)cnt[f[i]l+=cnt[i];
_rep(i,l,n)cnti]++;
00000000 $t$ 0000000 $s$0000000

00000000000 $s[1,il$000000 $t¢$0000000000OOO0O0OODOOOO0ODO

gooogd

goodooouoooooooouooooooo

O0O0000 $s$00 000000 $c$00 $t=s+c,t'=reverse(t),|t|=n$]

O0 $t'$ 0 $\text{KMP}$ OO DO OO DODODO $f(i)=j$00 O O $t'[1,jl=t"[i-j+1,i1$[

0000 $tin-j+1,nl=tln-i+1,n-i+j1$00 0 $tin-j+1,nl$ 0000 OO0

O $m=\max(f(i))$00 O O $t'[Lil(\gtm)$ 0 $t'$ 00000000 $t$000000 $tin-i+1,n](i\gt

m$od0000

gooo

goo

UVA11022

od

0000000 $s$00 $s$ 000000000
googod

1. $abaaba\to ab(a)”2ba$[Ju0 O $6\o 540 OO O OO OO
2. $abaaba\to (aba)”~2$[]0 O $6\to 3%
3. $abbabb\to (a(b)~2)"2$]0 O $6\to 2%

od

0000000 $s$000 $s=s 1+s 2$00 0 $s=(s_3)"ks$[
0000 $\text{dp}sg0 0000 DO $\text{dp}(l,r)=\min_{Ne i\it r} (\text{dp}(li)+\text{dp}(i+1,r))$0
000000000 $s$000 $d$00 $\text{dp}(,r)=\text{dp}(l,1+d-1)$[]

o000 $l=r\text{dp}(l,r)=1$00 0000 $0(n"~3)$0
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const int MAXN= o
namespace KMP
int fIMAXN!;
int get loop(char *s,int n
int pos=0;
fl1]=0;
_rep(i,2,n

pos&&s i) !=s|pos+
s!/i|==s|pos+ poS++;

flil=pos;

Ifinl||n%s(n-f[n
n-finl;

int dp[MAXN| MAXN];
char buf[MAXN];
int dfs(int lef,int rig
~dp[lef!lrig dp|lef
lef==rig ;
int ans=MAXN;
_for(i,lef,rig

pos=f [ pos]|;

rig!;

ans=min(ans,dfs(lef,i)+dfs(i+1,rig));

int len=KMP::get loop(buf+lef-1,rig-lef+

len)ans=min(ans,dfs(lef, lef+len-

dpl/lef!| rig/=ans;

int main
~scanf("%s",buf+
buf == c
int n=strlen(buf+l);
mem(dp,-1);

enter(dfs(1,n));
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0$s$0000 $text{?}$00000000000O0O $t$O000O000ODO

oo

o000 $|s|=n,|tl=m$Q

O $\text{dp} 1()$ 00 $s[1,i]$ 000000 $t$ 0000 OO0O0SMext{dp} 2()$ OO $s[1,i]$ O
OO0 $s$000 $m$ 0000 $t$0000 $t$00000O0O0OO

000 $\text{dp} 1(i)=\max(\text{dp} 1(i-1)\text{dp} 2(i))$00 0 $s[l,il$ 0000 $m$ OO OO
00 $t$0

00000 $\text{dp} 2()$000 00 $s[L,il$ 0000 sm$ 00O D00 O $t$0
$\text{dp} 2(i)=0%]

D0000DO00 $i-mitj\ltis 00 $s[1,j]$ 0000 $m$ D000 $t$000 000 $j$00 000
$\text{dp} 2(i)=\text{dp} 1(i-m)+1$[

0000 $$00000000000 $$00000 $\text{dp} 2(i)=\text{dp} 2(i-m+j)+1$00 00O
0 $j$00 $\text{dp} 2(i)\ge\text{dp} 2(i-m+j)+1$[

O000000000 $$00 0000 $tl,ml$0000 $$000000O0O
O00000 $$00000000000000 $t$0$f$00000O0O $$000

000000 $0(nm)s[]

const int MAXN=1le5+5;

int fIMAXN];

void get f(char *s,int n
int pos=0;
f[1]=0;
_rep(i,2,n

pos&&s i) !=s|pos+1l])pos=f|/pos|;
s/ i|==s|pos+ pOS++;
flil=pos;

char s/MAXN|,t/MAXN!;
int n,m,dpl/MAXN|,dp2[MAXN;
bool legal(int pos
int i=pos-m+1,j=1;j<=m;i++,j++
slill=t[jl&&s[i]!="7" false;

true;
int main

scanf("%s%s",s+1,t+1);
n=strlen(s+1),m=strlen(t+1);
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get f(t,m);
_rep(i,1,n
dplii|=dpl[i-1];
legal(i
dp2[il=dplii-m|+1;
int j=f[m];j;j=Ff[]

dp2[il=max(dp2/i|,dp2[i-m+j|+1);
dpliil=max(dpl[i],dp2(i]);

enter(dplin]);
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